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=™ 1 43 1 27 1 17
ERH 11 8 9 5 10 1
7= 6 12 4 6 5 2
FEET 5 14 5 6 2 4
Ti&EH 9 10 13 3 6 2
Al 12 8 6 6 3 3
BEM 10 9 7 6 7 2
TiEEBKT 7 11 10 5 11 1
mA+H 2 26 2 14 4 3
Emmh 13 8 11 4 12 1
Ll 14 8 12 4 13 1
BLEHT 20 2 16 2

ZEHFIHET 21 2 22 1

H E7ET 26 1 23 1 14 1
Z | ET 27 1 24 1

P 41IES) 28 1 25 1

BEERAT 22 2 17 2

= 29 1 26 1

AL ET 23 2 27 1 15 1
REHT 24 2 28 1

T {%HT 30 1 29 1

RINF 31 1 30 1

LNDHT 3 17 3 7 8 2
=) BT 17 3 18 2

it {ZHT 15 5 14 3

& )11 8T 16 4 15 3 16 1
&N ET 25 2 31 1

SR ET 32 1 32 1 17 1
BHE# 18 3 19 2

JEETET 19 3 20 2
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XK HHET 33 1 33 1
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= ET 8 11 21 2 18 1
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EELi 1 17,531 1 408 1 10,132
ERH 14 459 24 57 15 229
7= 10 778 18 65 8 502
FEET 2 2,493 5 178 2 1,118
Ti&EH 5 1,283 10 128 6 622
Al 9 922 11 115 5 674
BET 8 994 13 110 9 484
TiEEBKT 13 529 28 48 12 307
mA+H 4 1,667 19 64 3 1,013
Emmh 3 1,828 2 229 4 854
Ll 6 1,111 8 139 7 529
BLEHT 28 73 31 37 29 43
ZEHFIHET 26 118 22 59 26 61
H E7ET 27 100 14 100 27 47
Z | ET 29 69 17 69 28 47
P 41IES) 31 58 23 58 32 29
B+ 33 33 34 17 33 19
= 21 182 4 182 21 115
A LLIET 25 123 20 62 25 66
REHT 30 69 32 35 30 42
T {%HT 22 149 6 149 23 78
RINF 34 17 33 17 34 17
LNDHT 7 1,012 21 60 10 480
=) BT 23 146 27 49 22 110
Fh - {EHT 17 258 26 52 16 149
& )11 8T 12 592 7 148 13 306
#R &N ET 19 226 12 113 19 126
SR ET 24 135 9 135 24 75
BHE# 18 249 16 83 18 130
R EPET 16 279 15 93 17 131
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=™ 1 375 1 11,776 1 55.3
ERH 28 46 12 164 11 23.9
7= 12 84 6 435 4 43.0
FEET 4 186 2 1,905 7 29.8
Ti&EH 3 207 9 297 16 13.3
Al 10 112 3 1,361 2 541
BET 13 81 5 689 12 23.9
TiEEBKT 22 61 10 184 6 32.2
mA+H 16 72 4 929 3 52.7
Emmh 2 214 15 140

Ll 5 132 8 418 10 25.4
BLEHT 32 22 19 0

ZEHFIHET 23 61 20 0

H E7ET 26 47 18 72 14 15.8
Z | ET 27 47 21 0

e IFF 31 29 22 0

ERHt 34 10 23 0

=mFt 9 115 24 0

A LLIET 18 66 17 101 5 36.4
REHT 29 42 25 0

T {%HT 14 78 26 0
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=) BT 24 55 28 0

it {ZHT 25 50 29 0
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=™ 1 41 1 7 10 3
EFmH 11 3 8 1 17 1
7= 2 19 9 1 3 5
FEET 3 15 10 1 4 5
Ti&EH 12 3 2 3 18 1
Al 7 7 11 1 6 4
BEM 9 6 12 1 11 3
TiEEBKT 19 1 13 1 19 1
mA+H 8 7 14 1 13 2
Emmh 4 14 3 2 7 4
Ll 5 13 4 2 8 4
BLEHT 16 2 15 1 20 1
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& )11 8T 22 1 20 1 16 2
&N ET 13 3 21 1 25 1
ERET 5 5
BHE# 14 3 22 1
JEETET 5 2 12 3
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= ET 7 2
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